
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Η	
  καρδιά	
  μας	
  αποτελεί	
  μια	
  μυώδη	
  αντλία	
  χάρη	
  στους	
  παλμούς	
   τής	
  οποίας	
   το	
  
σώμα	
  μας	
  τροφοδοτείται	
  με	
  αίμα.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  	
  

	
  
α)	
   Πώς	
   ονομάζεται	
   ο	
   ιδιαίτερος	
   τύπος	
   μυϊκού	
   ιστού	
   από	
   τον	
   οποίο	
   αποτελείται;	
  
Ποια	
  είναι	
  	
  η	
  μορφή	
  των	
  μυϊκών	
  ινών	
  που	
  αποτελούν	
  τον	
  ιστό	
  αυτό;	
  (3μ)	
  
	
  
β)	
   Από	
   πόσους	
   επιμέρους	
   χώρους	
   αποτελείται	
   η	
   καρδιά;	
   Ποιοι	
   από	
   αυτούς	
  
επικοινωνούν	
  μεταξύ	
  τους	
  και	
  ποιοι	
  όχι;	
  (4μ)	
  
	
  
γ)	
  Σε	
  ποιους	
  από	
  τους	
  χώρους	
  του	
  ερωτήματος	
  β.	
  εισέρχεται	
  το	
  αίμα	
  στην	
  καρδιά	
  
και	
   από	
   ποιους	
   από	
   τους	
   χώρους	
   του	
   ερωτήματος	
   β.	
   εξέρχεται	
   το	
   αίμα	
   από	
   την	
  
καρδιά;	
  (2μ)	
  
	
  
δ)	
  Τα	
  τοιχώματα	
  των	
  χώρων	
  της	
  καρδιάς	
  που	
  βρίσκονται	
  στο	
  κατώτερο	
  τμήμα	
  της	
  
δεν	
  έχουν	
  το	
  ίδιο	
  πάχος.	
  Ποια	
  σκοπιμότητα	
  εξυπηρετεί	
  αυτή	
  η	
  διαφορά;	
  (3μ).	
  	
  

	
  
ΙΙ.	
  Ένας	
  από	
  τους	
  χιτώνες	
  του	
  ματιού	
  μας,	
  ο	
  χοριοειδής	
  περιέχει	
  λείους	
  μυς	
  που	
  
είναι	
   απαραίτητοι	
   για	
   τη	
   λειτουργία	
   της	
   όρασης	
   και	
   χρωστικές.	
  Να	
  απαντήσετε	
  
στις	
  ερωτήσεις:	
  

α)	
  Πού	
  βρίσκεται	
  ο	
  χιτώνας	
  αυτός	
  σε	
  σχέση	
  με	
  τον	
  σκληρό	
  χιτώνα	
  του	
  ματιού;	
  (3μ)	
  

β)	
   Σε	
   ποια	
   τμήματα	
   του	
   χοριοειδούς	
   χιτώνα	
   περιέχονται	
   λείοι	
   μύες;	
   Ποιοι	
   από	
  
αυτούς	
  ρυθμίζουν	
  το	
  εύρος	
  της	
  κόρης	
  του	
  ματιού;	
  (6μ)	
  

γ)	
  Ποια	
  είναι	
  η	
  σημασία	
  των	
  χρωστικών	
  που	
  περιέχει	
  ο	
  χοριοειδής	
  χιτώνας;	
  (4μ)	
  	
  

	
  
ΘΕΜΑ	
  Δ	
  
	
  
Σε	
  έναν	
  μαθητή	
  δόθηκαν	
  3	
  διαφορετικά	
  είδη	
  κυττάρων:	
  

	
  
• Το	
  κύτταρο	
  Α	
  δεν	
  είχε	
  πυρήνα	
  και	
  είναι	
  έγχρωμο.	
  
• Το	
  κύτταρο	
  Β	
  έφερε	
  γραμμώσεις	
  ενώ	
  	
  
• Το	
  κύτταρο	
  Γ	
  έφερε	
  βλεφαρίδες.	
  

	
  
Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  

I. Τι	
  είδος	
  κυττάρου	
  είναι	
  το	
  Α;	
  Σε	
  ποιο	
  είδος	
  ιστού	
  μπορεί	
  να	
  ανήκει	
  το	
  κύτταρο	
  Β;	
  
Σε	
  ποιο	
  είδος	
  ιστού	
  μπορεί	
  να	
  ανήκει	
  το	
  κύτταρο	
  Γ;	
  
	
  

II. Σε	
   ποιο	
   τμήμα	
   του	
   οργανισμού	
   μας	
   παράγεται	
   το	
   κύτταρο	
   Α,	
   σε	
   ποιο	
  
καταστρέφεται;	
   Ποιος	
   είναι	
   ο	
   βιολογικός	
   ρόλος	
   του;	
   Σε	
   ποια	
   πρωτεΐνη	
   τον	
  
οφείλει;	
  (12+13μ)	
  


